
CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016 CS 314 - Purdue University - Computer Science - David F. Gleich - 2016

Lecture 2 : Cs 314 hHI= position of Human d%CH=h4trft'_ Vwombd
- HY ) wgifso 11h41 - roam

Knowy raptors 0 roct ) = pos of raph .

�1�
kcy.ytn-xyia.is#oa*gfmoiIIIEiowe..afhtoIiE:@

O Known
.

Human -

t

0 -

'

0
Vhuman = G- 7mA Ohcr )

Vwomded =C0m/s hat - rct ) is the dnahnAptos 1 raptors 2 Vrana =

17mA Herapbr will run .


